Ratio to ATLAS

d?a / dly"™|dme™ [fb]

10

[EEY

0.5

13000 GeV pp tt
T T A I T T ]
- y! (ATLAS dileptonic ttbar) |
— . ]
L n ]

. i
B B -

BER R TI
T~ esl ::%::\ -
\.E~\.::=t§.’
= Tl o =
- ', 7]
-~ m  ATLAS ]
. --£-- Pythia 6.428 391 \’\f“.o [ | _
| & Pythia 6.428 393 -
| -~ Pythia 6.428 394 .\'g _
-v- Pythia 6.428 395
:l | | | | | | | | | | | | 5:
:l T T T T | T T T T | T T :
B g:::::::iEE;;:#:EEEEfffff::::;::::f::=--,,ssi;;—; ;;=:§ _
l E‘ ------------- ﬂ—'_"'—l ------ .E ............. ﬂ—-"—._l ——————— E

Dilepton [y"™"|times m"™

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


